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1
2 fFH WE zF kol 9% N3
3 PTEE B zF E8H 9% Y
4 Nk BEE zF kol 9% N3
5 %M@ # BF akn] 9% M
6 fRiE IRif B5F -d=Fi3 9% Y
7 EH Bk xF it 10% Y
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1
2 ¥ DTV xF -d=Fi3 8i% N3
3/ FAEE zF kol 9% N
4 EK EH xF it 115% N5
5 KiE B zF Ff 9% N3
6 fnikE METH zF EBH 8% N3
7 ®al BB zF Fif 9% N3
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1
2 0% % zF Fif 9% N3
3 W B BF ol 10% 4
4 Rk WLE xF it 10% 4
5 k¥ K5 BF it 10% Y
6 MF XK BF ol 10% Y
70 7= BF E-d=Fix 105% /4
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1 &8 BOR xF ol 9% Y
2 EH = xF -d=Fi3 10% Y
3 A B BF ko] 9% N
4|7 FF TF ol 10% IN5
564K B zF A 107% N5
6 KiE IR BF EBH 107% I
1 RE EHE zF A 107% N5
[64] [FE#%]
1% BX zF EBH 9% I
2 hngE Bz BF EBH 107% IV
3 Bl 1Az BF ol 12i% N
4#/0 BEE BF A 15 NG
5 RE FERR zF E8H 15% NG
6 Bk B zF E8H 125% NG
1 XKE KE BF E8H 15% NG




